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1) /&ll questwlm are compulsory. ‘b

2) All the qigesz‘zons has on internal"8ptions.

[Max. Marks : 50

3) 411 tfw questions carry equal mks. N
4) U %’ f)f only simple calcu is_allowed, :

‘&x

.

01) Attempt any 5 fromllfi;m 8 quesi @ﬂs L N [10]
- 5 g : i

a)  Enlist the mpﬂ. tputs @%b@era 10nS.
b) Memoriz@ »

(any four

c) ‘logistics management .
d) 1e quality in ’P%’”‘Spective of A?}
¢) WState the concept of Line} of visibility of service blue prmtmo
efine mte;m]ttent}iow system’. |
g) Define ‘pull system’.
h)  Describe foreczisting time horizon.
02) Attempt any 2 from the following 3 quesm} [10]

a)  Discuss the issues in Operations Ma%gemém

b)  Explain the characteristics of Job Pmdué@fﬁlf‘on.

: AN
¢)  Summarize the cash to cash conversion cycle.

PTO.



Job order production and non_repetative kind of Manufa
activities”. Illustrate the advangggegs & limitations of the m@

OR
[lustrate the coqég@@enys‘if’ supply chain facilitigs* decigions. [10]

[10]

Calculate Lﬁ%@@@ and determine total iy cost at EOQ using
the following data - [10]
tal Cénsumption - 5000 unt

Jhit Gt Rs. 1000

ity Carrying Cost 1% of inVefitory investment -
: ; y - }/ #

f

:i;dering Cost - Rs

b) Compare and K ontinuous, flow~system & intermittent flow
system with su% amplesi N7~ [10]

05) a) Desigr ﬂ%ﬁalized§ Ea«?l’y in Management Model for electronic
goo@u acturing ¢om [10]

o

11)  Restaurant

e s,
| inshiute

L
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